7h F4E

O fxe= 2d(586.33 1t

20189 21Utk ODA S™-SH =2 U
(2020. 3. )
=Yg
ODA XA 2
s
(17183 ODA AR F 2358259 whE-2 1d(2,151.889 7HE)
thHl A F7H206.379HE, 9.6%)
FA7E 2= Ad1,56550 ) thE] 10.8% =713 1,734.45W 7He-

) thH] 64% =713 623.80 T+

< 184 22|L}2t ODA LPTAH vy >
ELIEY
T 20174 2018A S (%) H| = (%)
ZO0DA(A+B) 2,151.88 | 2,358.25 9.6 100.0
UXIZE 2= (A) 1,565.55 | 1,734.45 10.8 73.5
FAk2l = (EDCF)’ 531.63" 603.42 13.5 (34.8)
DAkl = 1,033.92 1,131.03 9.4 (65.2)
(KOICA) (561.71) (617.46) 9.9 (54.6)
CixfZE 2= (B) 586.33 623.80 6.4 26.5
(st=2) (348.99) (379.84) 8.8 (60.9)
GNI(ZBI&EA5) 1,530,522 | 1,725,574 12.7 -
ODA/GNI(%) 0.14 0.14 - -
Mg (R/ga) 1,130.635 | 1,100.186 N2 -
» OECD DACS 20144 128 19IF3|2(HLMoIAM 2018 T REl R4 =2 ODA
EH7IES X5 WAM Z0{SIIY A2 HB5 +7|§ Ay

» 18,128 DACO{ A

SelE
= PSI AtE 124 =3HZ

IZEREZXA(PSI) LAl DEHA]
HO|o} AMTE

O O oo

Mg st

of w2t =X&£2 21

E.L Rlgl Abed, 1e48ks)



o FEUxEe] SIS A AP2AFE, WEND Pl &5
IFE AL S A8 T8-S FASY Fho] A
« Z[Hl= X'I—¢—%£‘(9°/o), 3"'?"%—)'\—53(70/0), ARA B A5 =(6%)
< £518E8 [UMXI TAHTIIY &% >
(4 2k=)
ESIE X E4(A) S0 =2(B) S0{S712(AXB)
Z| gl = 294.94 88.72% 261.68
X ~ 5 = - - -
St &85 = 403.17 75.27% 303.47
i I ) 80.86 47.34% 38.27
2 A 778.97 77.46% 603.42

. AE 7€

[] 183 ODA AR

« F 2423379t

thH] I A S7F222.029 75, 10.1%)

2 F'd(2,201.35 2k

=)

o At AFE A(L615.02%H) thE] 114% Z7}3F 1,799.57 9 wHE
o TAF 91F+= Ad(586.33u vy tH] 6.4% =713 623.80 vt
< 184 22|LI2} ODA UFTH vy >
(s 0h2)

T2 2017 2018 | (%) | HIE (%)
£O0DA(A+B)’ 2,201.35 | 2,423.37 10.1 100.0
okxtzZh & E(A) 1,615.02 | 1,799.57 11.4 74.3
72+ Z=(EDCF) 581.11 668.54 15.0 (37.1)
ENEES 1,033.92 | 1,131.03 9.4 (62.9)

(KOICA) (561.71) |  (617.46) 9.9 (54.6)

Cixtz & =(B) 586.33 623.80 6.4 25.7
(= o) (348.99) |  (379.84) 8.8 (60.9)
GNI(mE&EA5) 1,530,522 1,725,574 12.7 -
ODA/GNI(%) 0.14 0.14 - -
ﬂﬁzrg(%/%w 1,130.635 | 1,100.186 | 427 -

ODAE 2,533.80842t= =, &1A(2,288.5844

ok=E) el 10.7% &

7t



< XIS - =XIE OiHl THTIIY Hlul >

[

oht

1. FAE YU 49571

[0 189 S5/ FAE(2533808 %) dlH] 6.9% 22
2,358 259 a5 V=

< FXE JI= ¥ FOSIA J|= AX H@ >
(44 9H2)
. 2018 =7t 41 5 (%)

TE EXZE | oSt | A | EXE |SoisTi
ODA (A+B) 2,533.80 2,358.25 A6.9| 100.0 100.0
QUXIZE /= (A) 1,910.00 1,734.45 N9.2 754 73.5

SAHI Z=(EDCF) 778.97 603.42 | A22.5 40.8 349
SAR T 1,131.03 1,131.03 - 59.2 65.1
CiXIZ2t = (B) 623.80 623.80 - 24.6 26.5

(1183 SH571YL A= (2423379 0k thH] 2.7% HL FX]

o FATTIACE L= AT Ux F I REs.2 =
TAE 7] 668548 HE) TIH] 9.7%p T4
< &XE JIE ¥ TSI JIF & Ha >
(452
. 2018 =7t H| = (%)

TE 2x2 | ZoEsl | ) | 2xE |Zoi=so
ODA (A+B) 2,423.37 2,3568.25 | A2.7 | 100.0 100.0
URZE 2= (A) 1,799.57 1,734.45 A3.6 74.3 73.5

A Z=(EDCF) 668.54 603.42 A9.7 37.1 34.9
SFARIE 1,131.03 1,131.03 - 62.9 65.1
CiXZE €= (B) 623.80 623.80 - 25.7 26.5
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%) tHHEl 1.1%p 57t

Nlo

iy 1.1%p #Fa

2 ZA(64.0%)

62.9%

ARERYE X

=
-T-

(@)

2018

2007 2008 2009 2010 2011 2012 2013 2014 2015 2016 2017

20086




2. ZFEE ¥ (A 7

M

)

[ Z2AE dz7t FAL 429 663%E AAAL, 71&HE

11.1%, NGO -

© NGO - PPP -

PPP - 22 1%

AZx 84% =9 K

zRIORAZ7E AdoiH] 42.7%, 38R0l 4.6%,

Z2AE A2} 43% 47 Z7HEAA DL 18 AlgF A

< 184 YXIZt ODA 3B By >

(44 hE)

HERE 20174 20184 SLE(%) | HIS(%)
of L A # - 90.00 - 5.0
NGO,PPP, Z=2 I & = 105.88 151.11 42.7 8.4
=z 2 H E Y =| 1,125.73 1,174.29 4.3 65.3
7| = = = 207.13 200.58 A32 11.1
oH S HI =3 81.35 85.07 4.6 47
7| Ef 94.93 98.53 3.8 5.5
e A 1,615.02 1,799.57 11.4 100.0

3. A19d d3 (A= 7H)

(] ofAlo} X Hol gt A Po] IR A=F9 467%E AR5,
ol )7} 27.0%, V] 11.8% 52 JH

< 184 YXIZt ODA X[HE Y >

(84 BHE)
T2 | otAlo} |ot=2|Ft| o] | f B |2AMokot| o|uf 2 | FHA
= | 89435 | 51419 | 224.01 1.99 16.09 | 259.37 |1,910.00
H|S(%)| 46.8 26.9 117 0.1 0.8 137 100




[]

Rt dx T AHEdz ] tg
e Aol 40.2% 2HA]

o A1E)Ql

BT ENEES

32.6% HO.2 7

r°l'

Aol 30.2%, A A=z

+ 861409 WHEE2 WS 423%, B

o ZAAI=a} W AMH]XA JFE 1,145.80MTHEZ oY A] 41.0%,

WE 2D EF 388% lHoZ FA
< '18H1 YXIZt ODA EoiE vy >
(HHOHE)

Al 2ot 20184 H| & (%)
Atslel =zl 2 AMH|A 861.40 30.2
= 364.22 42.3
7] 280.74 32.6
Ol AR = 2 AY Al 1211 14
R R T k= 38.50 4.5
ZaW 2 AlDlAlE 120.58 14.0
71 EF AlE|lCl =2} 45.25 53
dA =zl & AMHA 1,145.80 40.2
nE 3 =27 44479 38.8
4 220.88 19.3
ol 4 X| 469.34 41.0
=28 % MEMHA 7.94 0.7
H| = A 2 J[EFMH[A 2.86 0.2
A AHARR B 408.18 14.3
CIF & 133.31 4.7
AKX /dEtzz 8] &l = 3.08 0.1
Exf 23H X - -
lEXN X[& 118.84 4.2
S0 HMHE 85.07 3.0
0= W =olH[ & 1.83 0.1
7| EFofuf £ =3 92.93 3.2
gt A 2,850.44 100.0




5. A5I1FE ¥ (=A= 79
O A 9z F T2 53 I 42 36.9%, 35.7%
AdPor, AsaS5T 94%E A
< '18Y YXIZt ODA ASIEZ oY >
(HHOHE)
2505 SAAE(A) (%) | FAKZEB) (%) | EHH (A+B) (%)
z| =] = 265.75 (39.8) 376.15 (33.3) 641.90 (35.7)
AN 5 = - - 1.29 (0.1) 1.29 (0.1)
St s A5 = 342.43 (51.2) 321.70 (28.4) 664.13 (36.9)
NI 60.36 (9.0) 113.07 (10.0) 173.43 (9.6)
ol 8f & ° - - 318.83 (28.2) 318.83 (17.7)
st Al 668.54 (100.0) | 1,131.03 (100.0) | 1,799.57 (100.0)

e
1z
0|>1

-

Aol 2 Jlet BHEB S 2

< '184H CIXIZt ODA B >

M| A28l (+19.859 vHE,

(B4 oHE)

L 20174 2018 =7ty

U = 29 | &xt |[&AH(A)| &9 | =X | sAH(B) | (B-A)

U N 98.52 - 98.52 97.90 - 97.90| A0.62
MoAH 2 4932 | 13517 | 184.49 5509 | 14925| 204.34 19.85
PNRSE P ETEC) 63.92 | 19199 | 25591 65.54 | 208.15| 273.69 17.78
7|E} CERRP |+ 47 .42 - 47 .42 47.87 - 47.87 0.46
st A 250.17 | 327.16 | 586.33 | 266.40 | 357.40 | 623.80 | 37.47




IV H75d &

O v &5A 9% "5
« DAC &4 7|=0 e}

O

Az HTEA W

o
s
o BAZS] MY W

0
.

%FXIZH ODA & 7|28
42.9%)tNH] 1.6%p 7St 44.5%
T2 Zd883%) 1l 04%p 7St 88.7%

< '18H YXIZt ODA H|F£E MX Sy>

(Ui oS
2 = 20174 2018 H| &

= 2ol H| = (%) = H| & (%) | SZ(%D)
H| =AM 1,143.74 56.0 1,397.05 56.9 0.9
M | Hepa - - - -
ODA| #+ & A 897.74 44.0 1,059.05 43.1 A0.9
et Al 2,041.48 100.0 2,456.10 100.0 -
H|5M 623.06 42.9 785.20 44.5 1.6
H e A _ _ _ _ —

-ﬁ-é,l' T I Ao

- =5 A 828.63 571 081.26 55,5 A1.6
et Al 1,451.69 100.0 1,766.46 100.0 -
H| 5N 520.69 88.3 611.85 88.7 04
ou | T 2 - - - -
- =5 A 69.11 11.7 77.79 11.3 ANQ0.4
eF Al 589.79 100.0 689.64 100.0 -

*

(1 LDC(HR1=) € HIPCs(aLAF-H1=h)ol] t3t v &4 X vlF &
A (55.8%) Bl A9.4%p 743t 46.4%

P URZ AE F BWH|RT BoIF U LIS AMACIEEY T8
(a4 0t2)
T = 2™ A (A) H|75YH by o(B) | BT HIS(B/A(%)
F & 1,039.08 363.31 35.0
2N 397.03 302.57 76.2
&t 1,436.11 665.88 46.4

R

2. See} 18 B3

EA Buztg Ha(Fosui 71E) &

3 1. 7]3E ODA Al AH(FH57HY 715)

IL



SRl | 1 0DA XY AN (S0ISTIY JIF)

(HHOtE)

I o 20174 i 2018 i Z=7toH
oFXtZk  CAbZE  SODAA) | 2Xtzb | cixtzt  &ODA®B) | (B-A

z o = 0.36 - 0.36 0.38 - 0.38 0.02
4 71 = 3.31 - 3.31 274 - 074 | ~057
2 4 o = 0.11 - 0.11 0.09 - 009 | 4002
A &4 2 = 3.36 - 3.36 463 - 4.63 127
4 = 0 212 - 212 285 - 2.85 0.73
18 L8 1.69 479 6.48 272 4.64 7.36 0.88
=E P 0.13 - 0.13 0.06 006 | 2007
D AR EAIR 11.15 1.10 12.25 11.95 1.05 13.00 0.75
B oM A 3.55 174 5.29 287 1.74 461 | £068
T =N 0.07 - 0.07 0.07 - 0.07 -
m 8 = 61.86 - 61.86 59.46 - 5046 | 240
8 A 1.50 - 150 - - - | 2150
22 = A 0.16 - 0.16 - - - | ao016
22 x5 4 5.40 - 5.40 7.96 - 7.96 2.56
2ol el el sl 0.07 - 0.07 0.07 - 0.07 -
= g = 1.44 - 1.44 - - | at44
2D &8 10.34 0.14 10.48 9.41 0.13 954 | £094
PIIPUR. ~ 2.42 0.06 248 2.97 0.06 3.02 0.54
7 & A oo & 1845 106.11 124.56 516 112,02 1719 | 4737
SRS MAES 14.70 7.56 22,27 5881  11.11 6992 | 4765
5 = & 3 16.38 0.26 16.63 17.43 0.30 17.73 1.10
o7 = N 0.45 - 0.45 - - -| 2045
o 7 2o Al 0.60 - 0.60 0.55 - 055| 005
2 3 A H 2.06 0.08 2.14 2.50 - 2.50 0.36
e e 9.80 - 9.80 10.79 0.25 11.03 1.23
o2 o= 0.32 - 0.32 244 - 0.44 212




o _ 2017dd 2018 sz
kX7t | CtXIZE  ZODAA) | %Azt cixizt | Z0DA®B) | (B-A

R P 20.14 16.83 3696 | 2792 1344 4136 4.40
2 oA o A 0.11 - 0.11 0.11 - 0.11 -
IR - 12.10 0.21 12.31 11.57 0.22 1179| 2052
Mol E MR R 20.14 127 21.41 26.82 1.29 28.10 6.69
Mg 5 8 A .56 - 156 0.83 - 083| 2073
Al Z 0| obZ obF A 1.49 - 1.49 2.03 - 203 0.54
of M Il 5 8 0.83 479 5.61 0.86 4.88 5.74 0.13
°f m = | 17261 8911  26172| 14728 8948 . 23676 | A24.96
2 A - o A 0.04 - 0.04 0.05 - 0.05 0.01
ol Ab & Al A 17.64 - 1764 | 2153 - 0153 3.89
of M T of A 038 - 038 243 - 043 0.05
H F £ K} x| £ 0.15 - 0.15 0.06 - 006 | 2009
Zolr{z|oiels| 4.27 - 4.27 3.71 - 371| 2056
A 1.36 - 1.36 2.26 - 2.26 0.90
s & 1.47 0.01 148 131 0.01 132| 2016
s=RA Y| 561.71 - 561.71| 617.46 - 61746 | 5575
st2azoed | 56072 - 560.72 |  638.74 - 638.74 | 78.02
s =2 e - 34899 34899 - 37984 . 37984| 3085
o o 4 A & 3.89 - 3.89 8.09 - 8.09 4.20
0N o M H 4.92 - 4.92 7.82 - 7.82 2.90
SRCTEPN RIS 0.01 - 0.01 0.02 - 0.02 0.01
SO I 6.23 3.27 9.50 7.65 3.35 11.00 150
gt A | 1,565.55 586.33 @ 2,151.87 | 1,734.45 623.80 @ 2,358.25 | 206.38

*

‘18.128 DACHIAM SolE CIZEREX2(PS)) LAIE DA w2l &XE2 E0E= PSI AFY 14 =g

(ZEClot MHS HMILE 2e S8X AtY, 1H2HE)



